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Opwghpp
Ubdwunuip — opklunhp gnpdwnhp dwpdhl

pwdht -01- Junwdp -1- nuu -1 dpwghp I I I
(puwn pymgburaghl Suifsulbph gnpdurlulul uivmupgdul)
Qhynn
wuypwGpbnh, Quithdwl DUNWLE
SwwnLENLGGENN L Uwpwbpbtph, éLunuJJnLraJmDUl:nh L Quiwa dhwynnp Uhwdnph 0
WluwtnwGpGtnh w2fuwnwbpbtph wajwaniittpp pu il puwn ahlp gnLswnp
Showlighy 4nnp putn intnEhwuwnnth wnbnGlyw (npwiny) (hwa,
inGnGywwnnih wnih npwuy) Pwluwl
1 2 3 4 5 6 7
01,1,1 UNCULLOED  gpuublyul. Umnip 4261 150.0
30197231 wnjhukpuiht pugubpe, by POU2Z hwn 10 2.0 200
30197631 poe A4 pnpdwinh PLUZ tnnieh 2200 72,6
30197232 wpwguwn, prpiw PLUZ hwiun 100 50
30197234 | pnuinwwwbwl Ynyun Yuginy BLUZ huwn 10015.0
30234300 nwunwny ujuwywrwy wewig wnithh FCUZ  [hwn 160 2,4 113
30192121 |glnhywynp aphs £LUZ2  |hwwn 100 36
30192128|gnhs RCUZ  |hwin 150 45
39263200 | gnwubilyjwyuhlb ghpp PRUZ hwin 800(8.0
30197322|jwphs uwnbutp PLU2 huiwn 1200(6.0
30192710]unupb4,pnph.unnywpwpeneh b tnkputnhih [RCUZ |hwn 350 31 g
39263410 |wipwl vEwnwnjw dté FRUZ  [uinith 400]4.0
39263410 wdpwy vGwnwnjw thnpp SR U 180 3,6
30197112 Ywphsh dEnwnwiwnpt Ywwbp PLUZ unnth 200]4.0
30192760 uphsbtp PCUZ tnntth 150 15
30192100 nGwnhl FCUZ  |hwuwn 100 05
30141200 huwdwuwnp FCU.Z hwn 3/9.0
39292500 pwlinG PLUZ hwn 350 1,8
30197330 nwyhs feUZ  [hwn 4000(8.0
30197233 wpwagwywp pnpb,pEINY PFLUZ  |hwuwn 100(5.0 j
wnpwbuwynpuwh ynmpe 4264 480
09123000 ubndywé phwywh guq R [ 190 480 25(
nbwnbuwly. wypwhpkp 4267 60.0 55
39221122 pwdwly Uks PLUL wnntth 8000 2
39221122 unipdh pwdwly PCUZ  |wnuth 5000 10
392224300 w by PCUZ  |[hunn 900 9
39221122 pwdwl) thnpp RET wnntth 3400
39832100 wiwh jJubwyne thnsh PCUZ  |wnuh 900 9
39224341 wnpwpln PLUZ  |[huwn 1000 5
31531000 iy fLUZ2  |hwn 4100 8,2
ounusnt@3ntuutnN
65210000 gqugh pwpfunty PCUZ npwd 120 120
65310000 ElEYunpntGEpghwih swewjnipnil PLU.2 npwd 330 330
79634000 gqugh whkh huljnnnipnit PCUZ npwy 43000(43.0
66514100 wjuindbp. Uywhnjwgpuly. Own. PCUZ2 npuwy 33000(33.0
92410000 phipnbtiph pudwinpyugpnip. FCU.Z npuwy 100000{100.0
50112100 wyjunnubkpkl, Cipwinpnguwh swn. FLUZ  [ppund 300 300
50312120 hunlwlupghsilip Jkpwbnpng, Cwn. PCUZ  |gpud 40000 40
50313100 yuwindthwiing uwpp. Epwlinp. Own. FCUZ  |ppud 60000 60




32412120 hupkphbn sSwn. FOUZ  |gpud 210000 210
64212000 poowhll dSwnuynipnth FCUZ  |ppud 130000 130
89000000 qunul sh hwinhuwgnn swhiukp npuul 10320000 10320
Upluwinwbip
45261910 gy bnwpuith okiph tnpngnud PLUZ npwd 500000 500
12936
Opughpp |
Uljwbnup — phgwbnp phnyph wyy Suinuynipinil
pwdhtt -01- punuwlp -3- nuu -3 dpwghp 150
72267000 hunfwlwpgswiht Swnwnip. ppwh npuid 150 150
01,6,1ply. Runyph hwip. Own. 610
66110000 pwilwhb Swpuynipnih PCUZ  [gpud 60000(60.0
39221120 pudwlyikp FCUZ  |gpud 200]50.0
39221210 wthukibp ERUZ - [gpunl 250 80 2k
39221122 unipoh pudul SRz [npund 250(20.0 2¢
Jupswlul Swnuwynipnih ppwh npuud 50 50
99600000 qunud shwlinhuwgnn wy dwhiubp
Ujhpunynipinih wy) sowhnyp shknwyy 250 250
Juquulbpynipnii,
wywnpununhp y&wn ppwh npwy 100 100
OUNUSNhE3NRL 3340
71222200 pupubqugpuul swhiukp e Tpud 3200 3200
71000000 bwumgswhbnwgnunuuh swubp ppwh Tpud 140 140
05,1, fwnpwhwhnipnih 1150 8
90511200 Ytugunuyht wyph hwdwpdwi swn. PLUZ i 1100 1100
24456000 Ypédnnukph kv wwypwph Wynipop ECUZ |gpund 50000{50.0
uwohuiwnwbip 05,4,11]m1]ngm]]1h [niuwynpnipnih 700
4536100 thnnnguiht ntuwdnpnipyut yhpuwbnpngnudCU2. |MCUU 700 700
08,2,4w)) Wpwlnip. Dwpwynipnil 500
79952000 Uhongupnudikph uquwlhkpy. Own. ppuwh npu 225000 250
99600000 hwinnily buyywinwlwiht wy Wnipkp/udtp/ [ppwh npwu 250000(250.0
09,1, Thwhiwnupngul. Yppenip. 2700
65310000 EleyunpntGGnghwih swrwjnieinil pnwh nnud 120 120
30000000 qpuukiyuly. Uypwbp pputh npuu 100 100
39000000 YEhgwnuhth hwbpwhb ulinihy ppuwh npuyd 300 300
99600000 hwunily iyywwnwluhic ymiphlip/]kp/ ppuh npud 80000 80.0 ,
99000000 qunid shwlinhuwgnn dwihiubp npu 2100 2100
04,2,1 giniqunbnkunipinil 100
98100000 dwubwghnwlwh Swpwnipnii pputh npud 100 100
08,2,1 gpunupuhb 1010
99000000 gunud shwiinhuwgnn Swiukp npud 950 950
Swnwjnipnih
92410000 plirplnh pudinitiwbnpyugpnip ppwh npud 60 60
08,2,3 Upwlnyph wnnih
99000000 gunid shwinhuwgnn dwhukp npu 1255000]1255.0
09,81 Yppnipnih
99000000 qunid shwbinhuwgnn swhiukp npud 300000(300.0
10,7,1 ung hwunnily wpntinip 1350
99000000 gunud shwlinhuwgnn swhiukp npund 250 250
99000000 qunud shwinhuwgnn dwjuubp npud 1100 1100
wohiwnwlip 04.5.1 dwbwywpuyht wpwiuynpn 3339 3339




(71000000 hwwgswhbnwgnunujub wyhwwnwip.  [PCUZ  [ppud 150,0 150,0
45233142 thnnngubph Yepubnpnguub wohiwnwbp |10 TUU 3189,0 3189,0
wuwhniunwht dvhonghkp 2944 8
huwunlugnmud $nliqughb pniek 1100,0
1844,8
plunudkup 31284,8| 3128438
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